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Problem 3: (20 pts.) Unpolarized light of intensity 60 W/m2 is incident on a polarizer
with its polarization axis at an angle of 10◦ away from the vertical. The light then passes
through a second polarizer with its polarization axis at an angle of 40◦ away from the
vertical, and a third with its polarization axis at an angle of 100◦ away from the vertical.

a. (10 pts.) What is the intensity of the light after the third polarizer?

b. (10 pts.) Suppose the middle polarizer were removed. What would be the intensity
after the last polarizer?
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b. (10 pts.) Suppose the middle polarizer were removed. What would be the intensity 
after the last polarizer? 

T3 :::. -:r: 1 c..,,,_z-( 1oo' - Ii} = fil 




